
compatible with 19R5080 (with 5114)

                    and 19R5514

Wild Land Drivers GmbH
Sportplatzstr. 4
D-85635 Höhenkirchen b.München

E-Mail: info@wild-land-drivers.de
Phone:  +49 (0) 8 10 2 / 89 58-0

W
W

W
.W

IL
D

-L
A

N
D

-D
R

IV
ER

S.
D

E
MONTAGEANLEITUNG
ASSEMBLING INSTRUCTIONS

EU-FRONTAL PROTECTION BAR 60 WITH CROSS PIPE 42 / EU-FRONTSCHUTZBÜGEL 60 MIT QUERROHR 42
– Artikel-Nr: 19R 4213

WILD LAND DRIVERS GMBH

weight: ca.7,0 kg 



page / Seite  2
Revision 2: 17.07.2019

19R4213.1 / 19R5213.11

19R5076 R / 19R5077 L

19R5057

2

5

2x

1x

1x

mounting kit: 19R9213

005495

2x

Ø6,6

EU

19R5052

2x

M6

19R5120
9

1x

00549311
1x

Ø11

00549812
4x

Ø9A2

article no.:

19R4213 (S) inox

19R5213     black steel

19R5046_R
3

1x

19R5047_L
4

1x

19R5258
6 1x

19R5245
7

1x

M10

8

19R516113

2x

10



page / Seite  3

M6x30; DIN 7991 Zn 4x

M6x25; DIN 933 Zn 2x

M8x25; DIN 933 A2 4x

M10x45; DIN 933 Zn 2x

M10x50; DIN 933 Zn 1x

M10; DIN 934 Zn 1x

Ø10,5; DIN 9021 Zn 2x

Ø10,5; DIN 125 Zn 1x

Getowell M6 4x

Revision 2: 17.07.2019

10
13
17

M6:
10 Nm
M8 (A2): 
21,4 Nm
M10:
50 Nm

M6:
2Nm

article no.:

19R4213 (S) inox

19R5213     black steel



page / Seite  4
Revision 2: 17.07.2019

Step 1

Step 4
8

2x

2
2x

Step 5

Step 2

Step 3

2x

10

2

2x

M6x25
2x

Step 6

article no.:

19R4213 (S) inox

19R5213     black steel



page / Seite  5

M8x25 A2
2x

12
Step 8

2x

3
4

Step 7

1

M8x25 A2
2x

12 2x

2

4

9

M10x45
Ø10,5 DIN 9021

11

Step 9

3

5
6

7
2x

M10x50

article no.:

19R4213 (S) inox

19R5213     black steel

M10 45MMMM10

Ø10,5 DIN 125
M10



page / Seite  6
Revision 2: 17.07.2019

article no.:

19R4213 (S) inox

19R5213     black steel

Step 10

4x120 120
15

120120

13 2x

Ø 12,5

4x
M6

4x

M6x30

4x

Step 11 Step 12

Step 13



page / Seite  7
Revision 2: 17.07.2019

Step 16

Step 14

article no.:

19R4213 (S) inox

19R5213     black steel

Step 15

Step 17

M6:
10 Nm
M8 (A2): 
21,4 Nm
M10:
50 Nm

M6:
2 Nm


